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QUESTION 1

Which of the following statements about a Smart Link group are true? (Choose three.) 

A. Smart Link group consists of a maximum of two interfaces. Where there are two interfaces, one is an active interface,
and the other a standby interface. 

B. Of the two interfaces in a Smart Link group, one is active, and the other is standby. 

C. When an active interface goes Down, the Smart Link group automatically blocks it and changes the status of the
standby interface to active. 

D. When an active interface recovers, the standby interface is blocked and traffic is switched back to the active
interface. 

Correct Answer: ABC 

 

QUESTION 2

The Eudemon can control traffic and connections based on IP addresses. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

In a switching network that has been enabled with STP protocol, the priorities of all the switches are the same. The
MAC address of switch1 is 00-e0-fc-00-00-40, MAC address of switch2 is 00-e0-fc-00-00-10, MAC address of switch3 is
00- e0-fc-00-00-20, and MAC address of switch4 is 00-e0-fc-00-00-80. Which of the switches will be elected as the Root
Bridge? 

A. Switch1 

B. Switch2 

C. Switch3 

D. Switch4 

Correct Answer: B 

 

QUESTION 4

Which of the connection types that Router LSA can describe? (Choose three.) 

A. Point-to-point 
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B. Star 

C. Transit 

D. Virtual link 

Correct Answer: ACD 

 

QUESTION 5

If one routing protocol only needs to import part of the routing information of another routing protocol and set attributes
of the imported routes, only the route-policy can meet this requirement. 

A. TRUE 

B. FALSE 

Correct Answer: A 
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